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2. {5 pts each) Find the following limits. \
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3. (12 pts) Use the definition of the derivative to find f'(x) for

f(x)=x>+3x
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4. (6 pts each) Suppose the total cost of producing x bicycles is given by
C(x)=5000+40x+0.5x" .
(a) How fast is the Cost changing with respect to the number of bicycles
produced?
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(b} What is the rate of change of the Cost function when 10 bicycles are
produced?
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5. (5ptseach) Find y' for the following functions. (Do NOT bother to simplify!!l)
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(Note: Thisis #5 continued.)
Find y' for the following functions. (Do NOT bother to simplify!!l)
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second derivative:
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7. (16 pts) For f(x)=3x(x“4x),fmdfheequoﬁonofhefongenHMefofhe
curve atx =-1.
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